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Extra Practice 3

	Lesson 7.3: Probability of Independent Events
1.
What is the probability of tossing two coins and having them both show heads?

2.
Every time Mr. Coleborn throws a ball of paper in the garbage can, the probability the ball goes in the can is 
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. What is the probability he misses 2 times in a row?

3.
A spinner has 3 congruent sectors coloured red, blue, and yellow. The pointer is spun and a 
4-sided die labelled 1, 2, 3, and 4 is rolled. 

a)
Find the probability of each event:

i)
Landing on red and rolling a 4. 

ii)
Landing on blue and rolling an even number.

iii)
Not landing on yellow and rolling an odd number.

b)
Verify your answers to part a using a tree diagram.

4.
An experiment consists of picking a card from a standard deck of playing cards and drawing a counter from a bag that contains 5 counters: 2 blue, 2 white, and 1 red. 
Find the probability of each event:

a)
Picking a spade and drawing a blue counter.

b)
Picking a red card and drawing a red counter.

c)
Picking a face card and not drawing a white counter.

d)
Picking a diamond and drawing a green counter. 
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3.
a)
i)
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